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EXTRA PRACTICE
Math 10 - Mr. Merrick - September 17, 2025

122a:+1 — 23w+7 A 33w74

1
If #3y° = 211313 and ;—2 = 57 find z and y.

y = az” passes through (2,1) and (32,4). Find r.
Solve for z and y: 2713 + 27 = 3v+2 — 3v

If f(z) =2%"2 find f(x)- f(1 —z) in simplest form.
Solve for z and y: 3712 4+ 27+2 1 27 — 945 4 3
Solve for o: 5%~1 =125 - 25¢

If p2¢3 = 26 .3° and b_ 6, find p and q. Answer in positive index form.
q

The function y = k - a® passes through (0,3) and (2,12). Find a.

7+l _7m = 6. 72. Solve for m.

1
If g(x) = 32®F1, compute gz+1)

gla—1)
Solve for integers x,y: 2* 4+ 2Y = 10.

4% 22:8
If h(z) = ;—7967 simplify h(x).

Solve for x: 9*—1.32* = 81,
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If y = ab” passes through (1,6) and (3,54), find a and b.

Suppose 2P = 3%. Express p in terms of ¢ using logarithms.

Solve for x: 4*+2 = 237,

M
If M =253* and N = 2235, find N in simplest form.

Evaluate (27) —267h,

5\“/25\> 5
Solve for x: (8) (64) =3
Order 449, 359, 280 from least to greatest.

If a = 912 and b = 12°, which is larger?

Evaluate (81) —3(47) .

x 3
Solve for z: z @ = z
9 81 9

Order 629, 339, 250 from least to greatest.
371

Evaluate (125) —4

Which is larger: 7'2 or 1497



